EXPLODED DRAWING JULY 2009

PRODUCT TYPE & ITEM NR.

PROTHERM SOLITECH PLUS SOLID FUEL FIRED CAST IRON BOILER SOLITECH PLUS

3| a]ls]e]7]s




¢ _ 2 |SPARE PART LIST JULY 2009

N 8 § -] PRODUCT TYPE & ITEM NR. UCRET

£ 22 ° |PROTHERM SOLITECH PLUS SOLID FUEL FIRED CAST IRON BOILER SOLITECH PLUS KODU

3 4 5 6 7 8 PRICE

2001023205|SULYEN BOYA (250 Gr. KUTUDA) RED DYE (250GR) 29
2007607720|TUPLU KAZAN MACUNU - DEN BRAVEN PASTE (ADHESIVE CEMENT) 33
2007609751[SOLID PLUS ON DiLIM (DAHiLI) FRONT SECTION 1 1 1 1 1 1 91
2007609750[SOLID PLUS ARA DiLiM (KENDINDEN IZGARALI - FEDERLI - DAHILi) INTERMEDIATE SECTION (WITHOUT BY-PASSES) 2 2 2 91
2007610002 |SOLID PLUS ARA DiLiM (KENDINDEN IZGARALI - FEDERSIZ - DAHILI) INTERMEDIATE SECTION (WITH BY-PASSES) 2 2 91
2007609748|SOLID PLUS ARKA DILIM (DAHiLI) REAR SECTION 3 3 3 3 3 3 101
2007160315|MD NIPEL (BORU) NIPPLE 4 4 4 4 4 4 29
2007609700|M12X355 (15X110) SOLID PLUS 3 DiL.GEKT. CUB. TIE ROD (3 SECTIONS) 5 25
2007609701|M12X460 (15X110) SOLID PLUS 4 DIL.GEKT. CUB. TIE ROD (4 SECTIONS) 5 25
2007609702|M12X565 (15X110) SOLID PLUS 5 DIL.GEKT. CUB. TIE ROD (5 SECTIONS) 5 27
2007609703|M12X670 (15X110) SOLID PLUS 6 DiL.GEKT. CUB. TIE ROD (6 SECTIONS) 5 29
2007609704|M12X775 (15X110) SOLID PLUS 7 DiL.GEKT. CUB. TIE ROD (7 SECTIONS) 5 29
2007609705|M12X880 (15X110) SOLID PLUS 8 DiL.GEKT. GUB. TIE ROD (8 SECTIONS) 5 29
2007609736|SOLID PLUS 3 DiL. TABAN SACI (FANSIZ) DEEP PLATE - FOR 3 SECTIONS 6 37
2007609737|SOLID PLUS 4 DiL. TABAN SACI (FANSIZ) DEEP PLATE - FOR 4 SECTIONS 6 43
2007609738|SOLID PLUS 5 DiL. TABAN SACI (FANSIZ) DEEP PLATE - FOR 5 SECTIONS 6 45
2007609739|SOLID PLUS 6 DiL. TABAN SACI (FANSIZ) DEEP PLATE - FOR 6 SECTIONS 6 47
2007609740|SOLID PLUS 7 DiL. TABAN SACI (FANSIZ) DEEP PLATE - FOR 7 SECTIONS 6 51
2007609741|SOLID PLUS 8 DiL. TABAN SACI (FANSIZ) DEEP PLATE - FOR 8 SECTIONS 6 53
2007603341|1 1/2 - 1/2 REDUKSIYON - SIYAH REDUCER 1 1/2"-1/2" 7 7 7 7 7 7 29
2007603339|DKY-S R 1/2" DUYAR UG MUHAFAZASI CAPILARY POCKET R1/2" 8 8 8 8 8 8 29
2002163260|ELCO 1 1/4" KORTAPA PLUG 1 1/4" ELCO 9 9 9 9 9 9 23
2007610008|SOLID PLUS UST KAPI (Fanli - Dahili) - 4 ADET M10 DELIKLI UPPER FRONT DOOR 11 [ 12| 11| 12| 11| 11 63
2007609689|SOLID PLUS UST KAPI REFRAKTERI UPPER FRONT DOOR REFRACTORY 12 [ 12 | 12 | 12 | 12 | 12 45
2007602223 |DKY REFRAKTER TUTUCU PUL SPECIAL WASHER FOR REFRACTORY 13 [ 13 | 13 [ 13 | 13 | 13 7
2002150720|CAM ELYAFLI FITIL GAP 12 FIBER GLASS ROPE DIA:12mm 14 [ 14 | 14 [ 14| 14 | 14 21
2007609753 |SOLID PLUS ALT KAPI (DAHILI) LOWER FRONT DOOR 17 [ 17 | 17 | 17| 17 | 17 63
2007609690|SOLD PLUS ALT KAPI REFRAKTERI LOWER FRONT DOOR REFRACTORY 18 [ 18 | 18 [ 18 | 18 | 18 35
2007609757|SOLID PLUS PRIMER HAVA KLAPESI PRIMARY AIR DAMPER 19 [ 19 | 19 [ 19 | 19 | 19 29
2007609693 |SOLID PLUS PRIMER KLAPE MENTESESI PRIMARY AIR DAMPER ROD 20 | 20 [ 20 | 20 | 20 | 20 9
2007609561 |SOLID PLUS KAZAN KAPI KOLU FRONT DOOR LOCKING ARM 2 | 2| 2| 2| 2| 2 25
2007609687|SOLID PLUS KAPI KOLU MONTAJ CIVATASI LOCKING ARM SLOTTED SETSCREW 23 | 23 | 23 | 23 | 23 | 23 9
2007601926/DKY M10 ARMUTLU NO.3 KILIT TUTAMAGI FRONT DOOR LOCKING ARM HANDLE M10 24 | 24 | 24 | 24 | 24 | 24 23
2007609754|SOLID PLUS KUL KAPISI (DAHILI) FIRE DOOR 25 | 25 | 25 | 25 | 25 | 25 47
2007602633 |DKY KAPI MANDALI (PLUS) FIRE DOOR LOCKING ARM 26 | 26 | 26 | 26 | 26 | 26 17
2007609685|SOLID PLUS KUL KAPISI MENTESESI HINGE SHEET 27 | 27 | 27 | 27 | 27 | 27 13
2007602292 |DKY UST MENTESE MILI UPPER HINGE PIN 28 | 28 | 28 | 28 | 28 | 28 17
2007602291|DKY ALT MENTESE MILI LOWER HINGE PIN 29 | 29 | 29 | 29 | 29 | 29 17
2007609686|SOLID PLUS KAPI KOLU BURCU FRONT DOOR LOCKING ARM BUSHING 30 | 30 | 30 | 30 | 30 | 30 7
2007609692 |SOLID PLUS KAPI KOLU BURG PiMi LOCKING ARM BUSHING PIN 31 | 31 | 31| 31| 31| 31 7
2007609756/SOLID PLUS DUMANLIK (160- DAHILI) SMOKEHOOD OUTLET DIA:160mm 32 | 32 | 32| 32| 32| 32 39
2007601991 |DKY KELEBEK KOLU SMOKEHOOD DAMPER ROD 33 | 33 | 33 | 33 | 33 | 33 23
2007601992|DKY DUMANLIK KELEBEGI SMOKEHOOD DAMPER 34 | 34 | 34 | 34 | 34 | 34 23
2002024520|MN FLANS CONTASI (75X58X3) GASKET FOR FLANGED PIPE 35 | 35 | 35 | 35 | 35 | 35 19
2002083142|MN GIDIS DONUS FLANSI (SIYAH) RETURN AND FLOW FLANGED PIPE 36 | 36 | 36 | 36 | 36 | 36 47
2007603282 |RT - C (30-100) TERMO REGULATOR (2987) TERMOREGULATOR 37 | 37 | 37 | 37 | 37 | 37 61
2007609712|SOLID PLUS 3 DiLIMLI SOL YAN SAG (FANSIZ) SIDE CASING (LH) (Ral 9006 EW 0794) 3 sections 38 51
2007609713|SOLID PLUS 4 DiLiMLI SOL YAN SAG (FANSIZ) SIDE CASING (LH) (Ral 9006 EW 0794) 4 sections 38 55
2007609714[SOLID PLUS 5 DILIMLI SOL YAN SAG (FANSIZ) SIDE CASING (LH) (Ral 9006 EW 0794) 5 sections 38 57
2007609715|SOLID PLUS 6 DiLiMLI SOL YAN SAG (FANSIZ) SIDE CASING (LH) (Ral 9006 EW 0794) 6 sections 38 59
2007609716|SOLID PLUS 7 DiLiMLI SOL YAN SAC (FANSIZ) SIDE CASING (LH) (Ral 9006 EW 0794) 7 sections 38 61
2007609717|SOLID PLUS 8 DILIMLI SOL YAN SAG (FANSIZ) SIDE CASING (LH) (Ral 9006 EW 0794) 8 sections 38 63
2007609718|SOLID PLUS 3 DiLiMLI SAG YAN SAG (FANSIZ) SIDE CASING (RH) (Ral 9006 EW 0794) 3 sections 39 51
2007609719|SOLID PLUS 4 DiLiMLI SAG YAN SAG (FANSIZ) SIDE CASING (RH) (Ral 9006 EW 0794) 4 sections 39 55
2007609720[SOLID PLUS 5 DiLiMLI SAG YAN SAG (FANSIZ) SIDE CASING (RH) (Ral 9006 EW 0794) 5 sections 39 57
2007609721|SOLID PLUS 6 DiLiMLI SAG YAN SAG (FANSIZ) SIDE CASING (RH) (Ral 9006 EW 0794) 6 sections 39 59
2007609722|SOLID PLUS 7 DiLiMLI SAG YAN SAG (FANSIZ) SIDE CASING (RH) (Ral 9006 EW 0794) 7 sections 39 61
2007609723 |SOLID PLUS 8 DiLiMLI SAG YAN SAG (FANSIZ) SIDE CASING (RH) (Ral 9006 EW 0794) 8 sections 39 63
2007609724|SOLID PLUS 3 DiLiMLI UST SAG (FANSIZ) TOP CASING (Ral 9006 EW 0794) 3 sections 40 39
2007609725|SOLID PLUS 4 DiLiMLI UST SAG (FANSIZ) TOP CASING (Ral 9006 EW 0794) 4 sections 40 41
2007609726(SOLID PLUS 5 DiLiMLI UST SAG (FANSIZ) TOP CASING (Ral 9006 EW 0794) 5 sections 40 43
2007609727|SOLID PLUS 6 DiLiMLI UST SAG (FANSIZ) TOP CASING (Ral 9006 EW 0794) 6 sections 40 45
2007609728|SOLID PLUS 7 DiLIMLI UST SAG (FANSIZ) TOP CASING (Ral 9006 EW 0794) 7 sections 40 47
2007609729|SOLID PLUS 8 DiLiMLI UST SAG (FANSIZ) TOP CASING (Ral 9006 EW 0794) 8 sections 40 49
2007609696 [SOLID PLUS ON SAC FRONT CASING (Ral 9005) M| | sa|a|a|la 39
2007609695|SOLID PLUS ARKA SAC REAR CASING 2 | 22| 2| 2| 2| a 39
2007065460|P1 TERMOMETRE (0 - 120) 1.5 mt P1 THERMOMETER (0-12) 1,5MT 43 | 43 | 43 | 43 | 43 | 43 47
2007610107|PROTHERM SOLITECH PLUS SICIL ETIKETI (fansiz) BOILER DATA LABEL 44 | a4 | 44 | 44 | 44 | 44 11
2002162240|1/2" KORTAPA (GALVANIZ) T511/30-B15 PLUG 1/2" 45 | a5 | 45 | 45 | 45 | 45 19
2007609730|SOLID PLUS 3 DiL. KULLUK ASH TRAY - FOR 3 SECTIONS 46 31
2007609731|SOLID PLUS 4 DiL. KULLUK ASH TRAY - FOR 4 SECTIONS 46 33
2007609732|SOLID PLUS 5 DiL. KULLUK ASH TRAY - FOR 5 SECTIONS 46 33
2007609733|SOLID PLUS 6 DiL. KULLUK ASH TRAY - FOR 6 SECTIONS 46 35
2007609734[SOLID PLUS 7 DiL. KULLUK ASH TRAY - FOR 7 SECTIONS 46 37
2007609735[SOLID PLUS 8 DiL. KULLUK ASH TRAY - FOR 8 SECTIONS 46 39
2007602756/50X1200X2000 AL.FOLYO KAP.CAM YUNU BODY INSULATION L=2000 47 | a7 | a7 | a7 | 47 | 47 29




g _ g SPARE PART LIST JULY 2009
D g W =

N 8 E 8 PRODUCT TYPE & ITEM NR. UCRET

£~ <° |PROTHERM SOLITECH PLUS SOLID FUEL FIRED CAST IRON BOILER SOLITECH PLUS Kobu

3 4 5 6 7 8 PRICE

2007609925 [SOLID PLUS UST KAPI SEPERATORU - KOMPLE (DAHILI) UPPER FRONT DOOR SEPERATOR 49 | 49 | 49 | 49 | 49 | 49 37
2007609926|SOLID PLUS DUMAN SEPERATORU (DAHILI) SMOKE SEPERATOR 50 | 50 | 50 | 50 | 50 | 50 37
2007609927|SOLID PLUS DUMAN SEPERATORU MONTAJ SACI SMOKE SEPERATOR FIXING SHEET 510 [ 50 [ 51 [ 51 | 51 | 51 6
2007602668|DKY TEMIZLEME FIRGASI (PLUS) CLEANING BRUSH 52 | 52 [ 52 [ 52 | 52 | 52 35
2007602224|DKY GEL-BERI VE $ISLEME CUBUGU ASH SCRAPER ROD 53 | 53 [ 53 [ 53 | 53 | 53 31
2007610092|PROTHERM SOLITECH PLUS ON UST SAC (kirmizi) UPPER DOOR CASING (red) 55 | 55 [ 55 [ 55 | 55 | 55 45
2007610094|PROTHERM SOLITECH PLUS ON ALT SAC (kirmizi) LOWER DOOR CASING (red) 56 | 56 | 56 | 56 | 56 | 56 39
2007610091|PROTHERM SOLITECH PLUS ON UST DEKOR SACI (gri) UPPER DOOR DECORATION CASING (grey) 57 | 57 | 57 | 57 | 57 | 57 45
2007610093 [PROTHERM SOLITECH PLUS ON ALT DEKOR SACI (gri) LOWER DOOR DECORATION CASING (grey) 58 | 58 | 58 [ 58 | 58 | 58 45
2005015500{UST KAPI DEKOR SACI ALTI iZOLASYONU UPPER DOOR INSULATION 59 | 59 [ 59 [ 59 | 59 | 59 39
2005015500|ALT KAPI DEKOR SACI ALTI iZOLASYONU LOWER DOOR INSULATION 60 | 60 | 60 | 60 | 60 | 60 39
2007603555|MK OZEL SAC MONTAJ CIVATASI - YENI SPECIAL SHEET METAL FIXING BOLT 61 | 61 [ 61 | 61 | 61 | 61 15
2007609957 [PROTHERM LOGO PROTHERM STICKER 62 | 62 | 62 | 62 | 62 | 62 19
2007610124{SOLID PLUS KULLANMA KLAVUZU PROTHERM RUSCA SOLID PLUS USER MANUAL 19
2002010750{M12 SOMUN TS1026/1 GAL. NUT M12 T51026/1 A A A A A A 5
2002023332[A13 RONDELA T579/2 GALV.(DIN 125) WASHER A13 TS 79/2 B B B B B B 5
2007602284 |M6X40 YHB CIVATA TS1023/4 - PAS. M6x40 FILLESTER COUNTERSUNK HEAD BOLT C C C C C C 5
2002010660|M6 SOMUN TS1026/1 NUT M6 TS1026/1 D D D D D D 1
2002010290|M4 SOMUN NUT M4 E E E E E E 1
2002022735|A8.4 RONDELA TS79/2(CK) WASHER A8.4 TS79/2 F F F F F F 1
2002010686|M8 6K SOMUN TS1026/1 CK NUT M8 TS1026/1 G G G G G G 3
2007602385|M8X15 YHB VIDA TS1023/4A M8x15 FILLESTER COUNTERSUNK HEAD BOLT H H H H H H 5
2007602805|M8X20 YHB VIDA M8x20 FILLESTER COUNTERSUNK HEAD BOLT 1 1 1 1 1 1 5
2007602265[M6X30 HAVSA B.CIVATA TS1023/4B - PAS. M6x30 FILLESTER COUNTERSUNK HEAD BOLT J J J J J J 5
2002011338[M10X25 A.K GELIK CIVATA 751021/1 M10X25 HEXAGONAL HEAD BOLT K K K K K K 6
2002005468(4.2X9.5 SAC VIDA DIN7981(SIVRI)-SIYAH 4.2X9.5 SELF TAPPING SCREW L L L L L L 1
2002022750|A10.5 RONDELA TS 79/2 WASHER A10.5 TS 79/2 M M M M M M 1
2007609769|EMNIYET RONDELASI - 4 - DIN 6799 LOCK WASHER - 4 - DIN 6799 N N N N N N 1
2007603455|M6X12 AKB CIVATA M 6X12 HEXAGONAL HEAD BOLT R R R R R R 5
2002071155|M10X40 SAPLAMA (12X20) STUD M10X40 S S S S S S 9
2002010720{M10 6K SOMUN T51026/1 CK NUT M10 T51026/1 T T T T T T 5




